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- [EA(2015)= LRA7H AFHTIZEQ 3 4THRI/E(30$/E) X8

cf) IEA(2015), Projected Costs of Generating Electricity; 2015
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(&/kWh) THEL )
EFAH|2(5}8H) 19.86 8.40
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F(2014)= 2t =718 24 YA A= E EMZ (R H|E= A&
cf) IMF(2014), Getting Energy Prices Right 0| $t= 2|HH|E & &
- IMF(2014)2] 3242]= 2 H2lo] YRHIE 42|20 ES 427
- 2L A& £2|E 56 IMF(2014)9] &2 Mot o2 HE
(&/kwh) e 7t
SOx 5.21 -
NOXx 3.06 2.38
PM 1.16 -
ti7| 2 HH|E(5kst) 9.43 2.38
SOx 12.51 -
NOXx 14.15 10.98
PM2.5 0.72 -
Ci7| 2 FH[E (st 27.38 10.98
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FHE 7t A 7t A 7t A 7t
T 4110 | 92.31 34.35 7734 | 4110 | 92.31 3435 | 77.34
AAfHL5% 0.00 -4.62 0.00 -3.87 0.00 -4.62 0.00 -3.87
haM & 3.67 0.00 3.67 0.00 3.67 0.00 3.67 0.00
Rz & 3.85 0.00 3.85 0.00 3.85 0.00 3.85 0.00
Y& 0.72 0.30 0.72 0.30 0.72 0.30 0.72 0.30
ErAH|S 19.86 8.40 19.86 8.40 26.69 1129 | 26.69 11.29
th7 |6l 9.43 2.38 9.43 2.38 27.38 1098 | 27.38 10.98
SH&d 0.06 -1.68 0.06 -1.68 0.06 -1.68 0.06 -1.68
A 7869 | 97.09 | 7194 | 8288 | 103.48 | 10858 | 96.73 94.36
H| 20| 18.40 10.93 5.10 -2.37
(H3t 242) (64.1%) (78.6%) (90.0%) (104.6%)
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